iny “2-804 O, I, EHOIER

A B: AIC5: 237
1 1
54-5x3+9x27+3= 3 33x2-12x41+4=
Tyl Lo 2 olxasio
2 2 3 5
29+53%x4-10%x3.7+5= 2.8_§X4_25X2+5:
1 1
31+52%2- 2= 343 X2+4x26+2=
3 1 1
50— x4+10% = +5= 5—2x24 - =
5 3 6

www.snowmath.com


https://www.snowmath.com

420578 N ERDIERF

1
54—§X3+9X27+3=12

167 7
29+53x4-1 TJ+5=—=16—
9+53x4-10%37+5= — = 16=

179 1

31452%x0— =2 132

ST3T % %
3 1 %51
50— 2 x44+10% ~ ~5= " —4-
5 3 6 6

1
——33x2—-12%x41+4=(—"2)=(—18—
3 3.3 x x (30) (—18—)

2.1 x4+ == (-
5

HIZh: A7

557 17
30

113
15

1 8
= )= (_73)

2 148 13
28— x4-25x2+5=(——)=(-9—
B3 4722737 () = (93)
1 133 13
+ o X2+4%x26+2= " =8_
STgraraxal ERRE

www.snowmath.com



https://www.snowmath.com

